x1 X2 X3

| 3 3 0]
objective 36 12 60 144
constraints 2 1 3 9 <=
1 0 3 3 <=

Tthe problem has one optimal solution
x1=3, x2=3, x3=0. The optimal objective value is z=144.
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a) z = 361 + 1209 + 603 — 7
subject to
201 + w0 + 33 < 9
ri+ 33 <3

L. o, 3 2 0



TLaar.



I 0 8]
objective 1 2 16
constraints 1 -1 -8 <= 12
-2 1 8 <= 8

The problem has no solution even if you can see some values.
The solver says:

0K Cancel | Save Scenario...

The Objective Cell values do not converge.

Solver can make the Objective Cell as large (or small when minimizing) as it wants.
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z = a1 + 209 — mar.
subject to

xr1 — o < 12

—201 + 10 < 8

xq. axo. >0



x1 X2

I 1 o]
objective 3 -1 3
constraints 3 1 3 <= 3
3 -4 3 >= 12
-2 1 -2 >= 6

The problem has no solution.
Solver is warning:

‘ QK ........................... E——

Solver could not find a feasible solution.

Save Scenario...

Solver can not find a point for which all Constraints are satisfied.



¢) z = 3wy — w9 —» Ma.r.
subject to
31+ a0 < 3
31 — 4o > 12
—2x1 + 19 = 06
1. o, >0



